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Q1. forar =¥ & 3= T TR 6T A & A1 A7 Afer &, 8 a7 arw, forar & sy TfAa iy s it 21 @7 g,
T 8 AT o aTE, foaT it sy AT #r sy A AT AT i ?
(a) 2 times

1
2 — times
(b) 2
3
2 —times
(c) *
3 times
(d)
(e) 4 times
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Q2. t= forehe faaTET &1 40 U & Foararsit sied 50 ¥ 3. IHFT IAH ThIT IqF a8 @ J 172
srfer &, A% T ST 9T 0T o et 3T ST 8, 97 99 38 uThiAt T sfEd 48 ¥ 8. s i sgan
THIT T 87

(a) 165 =

(b) 170 =

(c) 172 =

(d) 174 =

(e) 182 =
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Q3. 3T ATEAT ST IAF T9qT 6T AT A, IT AT AT S IAh! AT 6T 9T g § 3 T ATeF &, F 00
T o 19 a9 §. T[T ATAT 07 3 |q g 5 Vo a9 &, a1 fUaT &iie |77 & o1 A7q e ?

(@) 37 7 3fiw 28 T

(b) 47 7 3w 38 T

(c) 50 a¥ 3w 41 a9

(d) 35 7 3fiw 32 T

(e) =TH & F1E T
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Q4. TF FIEh FeAT T T g 40 a9 g, 32 A ¥ S\ sy Arer 12 70 g FeAr 7 onfher G s 8, S
FEAT 7 Sd AT 4 TT FH g1 AT 5. FAT § G2 7 b BT 4?7



(a) 10

(b) 11

(c)12

(d) 15

(e) 18
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Q5. B TEETT % TAT T ad g 22 7. TS TaH FH A1 F TG il TAAT o1 6 a9 g, T
TqEH HF A1 % TG & 577 & GHT TRAT Al Si|a oy #4471 012

(a) 19.2 T

(b) 16.4 7

(c)21.2 T

(d) 18.4 7

(e) 21 =
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Q6. et 60 STAATHA % sirer st arurr 30 ¥ TE off. a7 § 72 71 gorr 5 45 #fiw 46 FAA TR i Tereit &
FHT: 54 3 64 F ®T § TET IIT AT. Tl 6T AT Ao ?

(a)26.7

(b)34.25

(€)29.55

(d)32.55

(e)28.87
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Q7. we TS &t whear #, efy wraeat & s smg 43.5 A oft. 10 9&eat 7 F47 =i &7 3f7 6 70 qaeT oA
TO. AR e s H 2 9 Y g5 g2 o Tt sy 110 | 77 BT T, 7 e H a7 F qaeat v @y fFadt o072
(a) 34

(b) 36

(c) 32

(d) 40

(e) 30
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Q8. =gt 9% 5 FHANIT HeATy &, A< Tgetl a1 Ao Searsti & 3f|a & v i< sifaw a1 foww dwearst & of|q & av
& &= T 3{a< 588 g, a7 T Frel fauw dwear #7471 87



(a) 45

(b) 47

(c) 41

(d) 49

(e) 43
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Q9. fF=2T 6 ST T 3TET 45.5 . AT U TAT AR [Tgel SAFATRT § STIST SATAT g, T 79T
ST 47 BT STTAT 8. AT SAaATHT FAT 82

(a) 58

(b) 56

(c) 50

(d) 46

(e) 48
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Q10. T =T % 40 raAt it i g 15 a9 8. 9 10 70 Al H qAT FOAT AT 2, A ofed Ay H 0.2 a9
T g BT 2. 7T FTAT AT ST g FHaAt 82

(a) 15.2 T4

(b) 16 a9

(c) 16.2 a9

(d) 16.4 a

(e) 12 a9
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Q11. ue ferst = gL a9 i w21 § 120 FEenfi=t 7 siaa v 56 BT 3. 7t Ferr § @+ ofiw agtrat @
e AT FwRer: 60 T 3w 50 T §, 7 AT § Ak ST ARt T wwer: "t fhadt 82

(a) 72,64

(b) 38,64

(c) 72,48

(d) FRratfia 7t fFam ST aehar

(e) =¥ & =< T
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Q12. AT B Fir s 1 aquTa 4 : 5 2. Iz B &t aaA oY T 3@ & 5 a9 918 A ¥ o1 & 7eg F7 3iaq¥ 3 a0
g, AT A 3fT B T aqwme o #7 AT fhaar g2
(a) 68



(b) 72 T

(c) 76 T

(d) 64 7

(e) 56 a@
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Q13. STET ST X9 T AAHTT AT FT < 14 9 g1 TATT qT Tged, STehT A AT AT FHHLT:
5: 7 AT E9e il aqHTT A ohaeil 872

(a) 56 T

(b) 42 a

(c) 63 aW

(d) 35 aw

(e) 45 T
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Q14. TSTET ST TTET T A FHA: 15:17 & FqITT § g1 6 TT & 18, ITh! g T A4 9:10.
ST 6 a9 % T ToIAT sl A Feha«T gIRir?

(a) 40 a9

(b) 30 a

(c) 34

(d) 36 a

(e) 38 T
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Q15. T, TG ST TS T TAHTT S T AT AqATT 3:4:5 5. TS IThT AdATT Eq 3
28 A9 g. Al 5 a9 AT, TH AT LA %l 3 FHT AT Fha«dT gIT?

(a) 45 a9

(b) 55 a9

(c) 52 a%

(d) 59 T

(e) 61 a9
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Solutions



S1.

Sol

S2.

Sol.

S3.

Sol

S4.

Ans.(a)
Let the age of son be x
Father's age is 3 times more than his son.
So, age of father is 4x.
4x+8=25(x+8)
15x=12==x=8
Age of son = 8 year, father = 32 years.
So, after further 8 years
Son's age 8 + 16 = 24 Father's age
=32+ 16=48

So, father is 2 times of Ronit's age.
Ans.(d)
Let the highest score be x.
Lowest score =x - 172
X+x-172=40x50-38 x 48
= 2x-172=2000- 1824 =176
= 2x =176 + 172 = 348
x=22=174
Ans.(a)
Let the ages of mother, father and boys
be M, F, B; and B; respectively.
The total age of four numbers
=19 = 4 =76 years
B, +B, 11
Given, —— = —

2 2
=B,1+B;=11
M+F+B;+Bx:=76
=M+F=76-11
=>M+F=65.... (i)

According to the question,

By+B;+F B;+B;+M

3 B 3

=B,+B:+F=B,+B+M+9

=F=M+9

=F-M=9

From equations (i) and (ii), we get

F =37 years and M = 28 years
Ans.(c)



Let the original strength = x

ATQ,
A0xx+12x32

x+12
Solving this we get x = 12
Required answer = 12
Alternative method,

4{]\ 36/32
4/ \4

1 1

No. of person in first and second
group will be equal.

S0, required answer =12
Sol.

=36

S5. Ans.(a)
Required average age

_22X6—-6X6

5
13236

5
= 19.2 years

Sol.

S6. Ans.(c)
Correct average

60 X 30 — (54 + 64) + 45 + 46
B 60

=29.55
Sol.

S7. Ans.(b)
Let initially there were x students in the class.

-~ Total student's age = 43.5x

43 5x — 110
AT i —Tov e~ ¥
= 43.5%x — 110 = 45.5x — 182
72
=X = E
=x=236

Sol.



S8. Ans.(a)
Letoddno.arex,x+2,x+4,x+6andx+ 8
ATQ,

(x+7)*—(x+1)* =588
= 6(2x + 8) = 588
= x+4=49
=x=45
Sol.

S9. Ans.(b)
New chservation =47 x 7-455x &

Sol. = 26

S10. Ans.(b)
Let the average age of new students
is X years
ATQ,
40 X 15+ 10x
= 15.2
50

= 10x =760 - 600

= x =16 years
Sol.

S11. Ans.(c)
Let no. of boys in the school is x

Then, no. of girls = (120 - x)
ATQ,

60x+ 50 (120 - x) = 120% 56
= 10x=720

=x=72

~ No. of boys =72

And no. of girls=120-72
Sol, =48

S12. Ans.(b)



A 4

B 5

=54—-4B=0 ... (i)
And,

B-(A+5)=3
Or,B-A=8 oo, (ii)

From (i) and (ii)
B = 40 years and A = 32 years
-~ Total age = 72 years.

Sol.
S13. Ans.(a)
Let the present ages of Arun and Deepak
be x yr and y yr respectively.
Ly -x=14
x=y-14
and 2 =2
¥-7 ¥
7x-49=5y-35
= 7(y — 14) — 49 = 5y — 35
= 7y — 98 — 49 = 5y — 35
= ¥y — 5y = 98 + 49-35
SO]. e 5." = 56 }’t‘
S14. Ans.(d)

Suppose the age of Ranjana and
Rakhiis 15x yrand 17x yr.

After 6 yr the age of Ranjana and Rakhi
15x+6 . 9

17x+6 10
= 153x+ 54 =150x + 60

= 153x - 150x =60 - 54
3x=6,x=2

S0, the age of Ranjana after 6 yr
=15x2+6

=30+ 6=36yr

Sol.

S15. Ans.(d)
Sol.

Let the present ages of Ram, Rohan and Raj be 3x,4x and 5x years respectively.
S 12x=28x 3

= x = 7 years
~ Required sum =(21+5) + (28 + §5)
= 59 years



